Rt =

X afthatet x££ R 120BYTES

***.'FT' =N —‘F']'&;}'I_,Fé';\ KKk

BB LA

ek b B 9(1)
B 5 EEAFRE AL 9Q)
P ¥R LA R 9(4)

=006 017,006 # 5+ &
= XXXX , XXXX % & 7 %85

EGH A X(8)
Firp X(10) YYYY-MM-DD
Zw X(94)
*k*k F]q “H‘J F‘X #J"Fév ;\; *k*k
B LA FAEE R % ==
ek E W) N B 9(1) = JFe B S
LA S R 9(1) 1-CP1 2-CP2 & £ = CP 3-BA
£ EE 9(12)
BFE AR X(10) ‘L— % %.-CP1,CP2,% = CP,BA
AR T A REL 9(7) £ F R
#FEp X(10) YYYY-MM-DD
Lirgp X(10) YYYY-MM-DD
Lo &% 9(13)V99 +Hho A0 2 FAF BE
¥ 2 LR 9(13)V99 LFh A0 B LY B
ME TR X(9) LFERFAE T HEFA T
CP2,4 <A CP¥ 4 7%¥
X(2) + X(3) + X(4)
LERT LG
LS X(3) AT
£ X5 9(7) oE ;ﬁ 0
e w| X(03) =USD 4 % ~ » 374 % % v
A X(17)
X & S
B LA FRAE R R R ] ==
hR T W B 9(1) = A
¥ 7F A 5R K 9(6) EESER
ERRER 9(16)V99 +Fho 20 2 EEF B
e X(95) #A T 9 3 120 BYTES

BT 42,017 % 7

=t

i

[

~H~34




